Q
o S )
| -~
o
(@]
k\_/
0 o
0 o
D O

NR. |Description MA Iltem Number | Qty
1 |230x198mm 8044681 4
2 |965x728mm 8052320 4
3 [200x200x53mm 8051762 1
4 |Screw, 1ISO8677-M8x30-8.8 8039278 28
5 |@8,5x27x4 mm 8005959 28
6 |Cap 8, @27x12 mm 8005956 28
7 |Washer, Bolt cap 9x18x2-1S04759-3-C 8008849 28
8 |Nut, 1ISO4032-M8-8 8008770 28 I l Q ( :S 334;5%33%5“”
9 |[Cover 8, @18x10mm 8005958 28 vww-hags.com
10 [123x60mm 8052324 4 Roof for 1x1m
11 | @21.4 x @11 x 4,7 mm 8035288 12 MASW41284
12 |Screw, wood, TKFT-8x60-8.8 8008646 12 1(4)
13 |Screw, thr-forming M8x25-8.8-(1SO7380) 8008506 | 12 Ss |S®>[ToB| 2017-10-03 [2




NR. |Description MA Iltem Number | Qty

1 |230x198mm 8044681 4

2 |965x728mm 8052320 4

3 [200x200x53mm 8051762 1

4 |Screw, 1ISO8677-M8x30-8.8 8039278 | 28

5 |@8,5x27x4 mm 8005959 | 28

6 |Cap 8, @27x12 mm 8005956 | 28

7 |Washer, Bolt cap 9x18x2-1S04759-3-C 8008849 | 28

8  |Nut, 1SO4032-M8-8 8008770 | 28 HAGS 3§§§§33§¥5DEN
9 |[Cover 8, @18x10mm 8005958 28 vwhags.com
10 [123x60mm 8052324 4 Roof for 1x1m

11 | @21.4x @11 x4,7 mm 8035288 | 12 MASW41284

12 |Screw, wood, TKFT-8x60-8.8 8008646 | 12 2(4)

13 |Screw, thr-forming M8x25-8.8-(1SO7380) 8008506 | 12 Ss |S®>[ToB| 2017-10-03 [2




NR. |Description MA Iltem Number | Qty

1 |230x198mm 8044681 4

2 |965x728mm 8052320 4

3 [200x200x53mm 8051762 1

4 |Screw, 1ISO8677-M8x30-8.8 8039278 | 28

5 |@8,5x27x4 mm 8005959 | 28

6 |Cap 8, @27x12 mm 8005956 | 28

7 |Washer, Bolt cap 9x18x2-1S04759-3-C 8008849 | 28

8  |Nut, 1SO4032-M8-8 8008770 | 28 HAGS 3§§§§33§¥5DEN
9 |[Cover 8, @18x10mm 8005958 28 vwhags.com
10 [123x60mm 8052324 4 Roof for 1x1m

11 | @21.4x @11 x4,7 mm 8035288 | 12 MASW41284

12 |Screw, wood, TKFT-8x60-8.8 8008646 | 12 3(4)

13 |Screw, thr-forming M8x25-8.8-(1SO7380) 8008506 | 12 Ss |S®>[ToB| 2017-10-03 [2




WOODEN POST

STEEL POST

ANEBY, SWEDEN
+4650)380—
47300
www.hags.com

Roof for 1 x1m

NR. [Description MA Item Number | Qty

11 | @21.4 x @11 x 4,7 mm soszes | 12 || MASW41284

12 |Screw, wood, TKFT-8x60-8.8 gooseas | 12 || 4(4)

13 [Screw, thr-forming M8x25-8.8-(1S07380) 8008506 | 12 SS [S®>[T0B[ 2017-10-03 |2




	Sheet1
	Drawing View1

	Sheet2
	Drawing View4
	Drawing View19
	Detail View F (1 : 5)
	Drawing View30
	Detail View D (1 : 5)
	Detail View H (1 : 5)

	Sheet3
	Drawing View33
	Drawing View36
	Drawing View39
	Drawing View41
	Detail View G (1 : 4)

	Sheet4
	Drawing View45
	Detail View B (1 : 4)
	Drawing View47
	Detail View A (1 : 4)


